SmallRig

SmaliRig

QO
o

iPhone 16 Pro / Pro Max

Mobile Video Cage Basic Edition
E R RAEE 29hR

Operating Instruction / #21E353|




Thank you for purchasing SmallRig's product.

Warnings / E2127R

Please read this Operating Instruction carefully.

HARFIERIRIEIESI.

Please do not use the product in water because it is not dust or water proof.
BOEKPER, AFRAREHE. BiKIDEE.

Do not let the product fall to the ground, be hit, or suffer a violent impact.
B RIS E R, REEERRIPE.

Product Description / F*G@ 43

Introducing SmallRig's iPhone 16 Series video cages, tailored for iPhone 16 Pro /
Pro Max users seeking professional video and live broadcasting solutions. This kit
includes a specialized video cage and a protective rubber frame. The cage provides
all-around protection with a precise fit while not obstructing button access during
shooting. The T-mount lens backplate allows for easy attachment of external lenses.
Interchangeable with a 17mm threaded lens backplate or a 67mm magnetic filter
adapter, this T-mount lens backplate supports attaching various optical accessories
Featuring a cold shoe mount and 1/4"-20 threaded holes, it supports attaching
various accessories like lighting, microphones, tripods, handles, straps, and more
for versatile shooting setups. Compatible with standard 1/4"-20 screw-connected
handles or tripods, it also integrates seamlessly with the SmallRig quick release
ecosystems providing more efficiency.

X fEASmallRig iPhone 16 RFIEAARIERLAMN, AEHFNFNEWATIAER
HHRRAR, AREEMHHEFIERIETRBIEES, HENTRINFIIREER,
BEEAFNRHETUSNEHUR2RY ., HENTROGELERTARTFOM
TEEOFHIMERSL. IR TFREIF BRI 7mmIRAE LS Rt 6 TmmBE IR R 1%
I, ARESHFES., BEER LANSHOM1/4"-2008503L, BRIEFEFME
BASHRRATE. ERX. ZHIR. UIFH. LFR. BE. BRSReE, B
FIHREN=HRBERENGR. TIRRFH/ EFR/=ZMRE, ARRXTH
BEMV/G - 202 LERNFH/ L FIR/ZHIR, B3 SmallRigZ B BIRES RS,
HERE, RESX.

In the Box / &1%i&

Video Cage (with T-mount Lens Backplate) x 1 Operating Instruction  x 1
FNERARIE (FTROELER) #BAEES

Protective Rubber Frame x1 Guarantee Card x1

HEME RIEF




Product Details / =R 43

Cold Shoe Mount / 2#kE T-Mount Backplate / TR &4R

Buttons .---------4
fis:ed

QR Mount --------
IR0

PRESS Button-----f
R
Unlock Button---
fRERE

Product Installation / @&
1. Phone Assembly / Disassembly | ZEXF4l

---Rubber Frame
| SREBAE

(1) Phone Assembly: Insert the phone with the rubber frame into the cage, as shown

in the picture, and secure it by pressing the button.

(Ensure the "PRESS" button is unlocked before mounting the phone)
RAFH: BFN BIN) RAKRIED, RBRNERSEFNEAARE,
$RIE “PRESS” #RH5SM L. (MAFHLZAET, BHIR PRESS RAATREMRT).

Protective --------
Rubber Frame

RERAE




A The side with "PRESS" printed on the left is the front side. When assembling,

please follow the directions shown to mount the phone.
ERFNHSERDYHARIEERSSE, ZAMENH PRESS'W—ENIEA,
REMBRBERS EEAF.

(2) Phone Disassembly: Toggle the unlock button down, causing the "PRESS" button
to pop up, then remove the phone.
EEFH: @ TFRESRE, PRESS” #AM L3E, MERLF.

Unlock Button
RRAGRER




(3) Incorporating External Lenses or Filters: The cage comes with a T-mount
Backplate for T-mount exteral mobile phone lens usage. To incorporate 17mm
threaded lens or 67mm filters, the 17mm Threaded Lens Backplate for iPhone
16 series Cage (ID 5009) or Magnetic 67mm Filter Adapter (ID 5010) is required
(Note that the baseplate and the adapter are sold separately). Remove the
T-Mount Backplate on the cage as illustrated, and insert the replacement
backplate to facilitate the use of external lenses or filters.
fERSMERLIRE: BRIERERTROGRLER, TERTROIMEFNFL.
AFBEA1TmmIRGERSL 6 TmmIBREER, BWLRMRHENARIEITmm
I2LUESLEIR (1D 5009) SIRRIESTmmIBE R (1D 5010); WEFTRENT
AREGLMNT-RORLER, BARTBRNERATERINERLLRE.

17mm Threaded Lens Backplate
(Sold Separately)

17mm BYFLER (FHRW)

\ 67mm Magnetic Filter Adapter
(Sold Separately)
67Tmm HIRIREHER (FSMW)

A Please note:

When using the cage with the third-party case or the SmallRig FilMov series
case, the lens protection on the case may interfere with the lens backplate
of the cage. Please check before use.

EER:

EHIRRIESE=AFH=HSmalRig FilMovRFIFH 55— ER,
FNRENRLRIPIRIT TR SHRRERLERTETS. EB
EERIIA.




2. Wristband or Shoulder Strap Attachment | {EFBE# sk /B #

(1) Wristband Attachment: Insert the wristband rope into the wristband hole at the
bottom of the cage and secure to use.
fERpEE: SRR ARRIEANESNBRSEIL, & EpHEaER,

(2) Shoulder Strap Attachment: Insert the shoulder strap rope into the shoulder
strap holes at the top and bottom of the cage, secure to use.
fERER: BRHESRABRIEANREFRINBTIL, K EEHRIER.,

Shou\der‘S(rap Hole
=LEEN

' ————————— Shoulder Strap Hole / fE#7L

3. Expanded Functionality | {A/RIN&E

(1) There are multiple standard 1/4"-20 threaded holes on each side of the cage
for attaching side handles, top handles, and tripods with 1/4"-20 screws. There
are two standard cold shoe mounts on the cage for attaching accessories like
lights, microphones, and more.

TERRAEINOIE R _ESBIEIME/4-20 884870, BFIRRLI/4"-20 R
FE. EFRN=MR. ARES2MIESHO, BTRRINSHIERN
. ERNFRE.

(2) Quick Release: There is a quick release interface on each of the four sides of the
cage. The quick release interfaces incorporate with the 1/4-20" threaded holes
on the cage, facilitating the usage of SmallRig's unique Quick Release Ecosystem
BIFAR: TRRENER EHBIE1MRIFRE, FESIER E81/47-20
BOFLAERS, TTRESmalRigEENRIFESRS.




(3) Quick Release Lock: Align the locating pins of the quick release adapter with
the upper and lower 1/4"-20 threaded holes on the cage, as shown below, and
press the handle. A distinct "click” sound indicates that the side handle has
been securely locked into the cage.

BRIFSIE: SRR RS R R RIE LA ETFRM/4"-20 824071,
MERENFREERIFSEIR L RS, RBVUIERIDGPARFFRE,

* The handle is sold separately
*FEEFH

Specifications / R

5008 [iPhone 16 Pro]

Product Dimensions 6.6 x 3.6 % 0.5in
PR 168.6 x 90.6 x 12.5mm
Product Weight 4.4+0.20z

RRER 124.0+5.0g
Material(s) Aluminum Alloy
EEHMR BEe

5006 [iPhone 16 Pro Max

Product Dimensions

F@RY

7.2x3.8x0.5in
182.0 x 96.8 x 12.5mm

Product Weight 4.8+0.20z
FEREER 136.0 +5.0q
Material(s) Aluminum Alloy
EEMR a6




Manufacturer: Shenzhen Leqi Innovation Co., Ltd.
Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50 Guanguang
Road, Longhua District, Shenzhen, Guangdong, China.

ISR HRESIFRIAEIRAT
Huht: PEARERYIFREXIRAEERAL RIS 1301-50 SEMTUES 55 5
103, 501, 601

Consignor. Shenzhen LC Co., Ltd.
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road, Xinlan
Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

8. RIHRRRHEARAT
ohik: PESRERYIH R X

EFTAAL KWEEE 1301-50 SEFMTUE 5 5 15 602

SAATHRAE: GB/T 26572-2011 LQ-P1382-18

RoHS C€ ® <»

Séparez les éléments avant de trier PAP
Made in China hE &




